Bim

07/16~07/22

YEERP106RFET— ETERHE (FEMHE) HITEERR RIS

H i

oy

RI-=K

1 2 3 4

5 6 7 8

9

0800-0850 | 0900-0950 | 1000-1050 | 1100-1150

1310-1400 | 1410-1500 | 1510-1600 | 1610-1700

1710-1800

fhist

7116

28—

7117

EHi—

EMHE

7118

=

7119

EHm

7120

E8Ah

EMHE

a—E&X(L)AM S&iE208

B—®X(L)B E&H1E209

BEH®X(LE)AM 5518210

BRX(L)BH E&F1E211

BERX(E)CH EFi8214

E{bB( L)t SHEATE
tBRER=

BEX(L)(CEE=REXERAR)

BEEX(L)(CEE=REXERAR)

a—E&X(L)AM S&iE208

BEH®X(LE)AM 5518210

B-RX(L)BH E&F1E211

B—H2(L)Bi 518213

BE—HE2(L)Cc E518202

E-HE2(L)B E518212

BEHE(L)CcHt E%18201

E={bB(T)it SHEATE

tBER=

7121

BEX(L)(CEE=REXERAR)

B—EX(R)

BEEX(L)(CEE=REXERAR)

SZEX(T)

B—RX(E)CH E518113

S—22(L)D¥E EHE111

BoiB(E) BRI

| E=HR(R) MIPFRNKE

7122

288

BEEX(MCEE=REXERAR)

BEEX(M(CEE=REXERAR)

B—RX(E)CH E518113

S—22(L)p¥E ESHE111

BHE(T) IEFRIRZ

| | =Rl ) AR ENE=

07/23~07/29

H i

o

RI-=K

1 2 3 4

5 6 7 8

9

0800-0850 | 0900-0950 | 1000-1050 | 1100-1150

1310-1400 | 1410-1500 | 1510-1600 | 1610-1700

1710-1800

et

7123

28—

7124

21—

EMHE

7125

8=

ELBER=

=E{bB( L) BRETE

{tBREER=

EEE(T)BREFTE

S =R
*ﬂqZ@{gb%E 2

7126

28

7127

28

EMHE

BE—HX(L)BH E&12209

Ea—RX(T)AM E&iE208

E_RX(T)AM E&iE210

E"EmX(TN)BY E&12211

EEX(E)CH E&HIE214

E )
MR ER

E=PIE(L)BRMAE
MTRMRER=R

E—EX(TN)AM S&iE208

BEH®X(T)AY 5518210

BE-RX(N)BH E&F12211

B—H2(L)Bi E£518213

BE—HE2(L)Cc E518202

E-HE2(L)B E518212

_B_BE(L)cH EEH#201

=

& =R
MFRERRER

BEYIE(L)BRAE
FMTEMEERR

7128

=—HX(R)CH 5&12113

E—ZE(T)DYE EHiE111

B—RE(E)

HIRERHR

B—itA(T) FEENSRHER

7129

£818

|
=—HX(R)CH 5&12113

E—ZE(T)DYE EFHiE111

| B—2E(F)

HIRERHE




Bim

07/30~08/05

YEERP106RFET— ETERHE (FEMHE) HITEERR RIS

H i

oy

RI-=K

1 2 3 4

5 6

7 8 9

0800-0850 | 0900-0950 | 1000-1050 | 1100-1150

1310-1400 | 1410-1500

1510-1600 | 1610-1700 | 1710-1800

s

7130

28—

7131

2=

81

2=

ERHE

BB L) IEFRIKRZ

B=EM(L) A
FEENERE

BB L) IRENHER

E=&EY(L) #0

E—H2(L)AM
E&12210

ETHE(L)AM
%1208

B=EM(L) A
FEENMERE

8/2 |EH

8/3 [EHfA

ERHE

E—HX(TN)BH 5&12209

BEX(R)CH E&1E214

a2 (LA E&FiE210

S_E(L)AM 518208

=—8& (L)l 5%18213

=—H&(L)CcH E&18202

E=8E (L)Y 5518212

E=HE(L)CcH 5518201

a2 (LA E&FiE210

S_E(L)AM 518208

=—8E (KB 5%18213

=—HE(N)CH 5&18202

E=8E(N)BH 5518212

E=HZ2(F)CcH 5518201

EPIE(L)BEXRE MFEYIEERE

=E=HX(E)D

P EZE113

8la

E=#Z(F)D

P EH:IE111

X (L)D £

FiE113

8Is

pere—
=
=] —
= —
=
=] —

/2 (N)DIE E&HIE111

08/06~08/12

GEE

2

3

4

5 6 7 8

9

H 39

0800-0850

0900-0950

1000-1050

1100-1150

1310-1400| 1410-1500| 1510-1600 | 1610-1700

1710-1800

5

Bt (R) IRENER

8l6

28—

8I7

21—

8/8

EH=

EMHE

BE=EM(R) A
FRENERE

BiE(T) IEFRIKRZ

BEM(R) A
FREENMERE

E—8E(T)AM
E&1E210

EZHE(T)AM
E&12208

BE=EM(R) A
FRENERE

8/o | 2HAM

8/10| 28 A

EMHE

B—®X(N)BH 518209

BERX(R)CH E&i18214

BE—BE(T)AM 5518210

S—_H2(N)AM S&iE208

B—HEB(N)BY E&%1E213

BE—HE2(N)C E518202

E-H2(N)B E518212

BE=HE2(N)CH E&18201

E—BE(T)AM 5518210

S—_H2(N)AM S&iE208

B—HEB(N)BY E&%1E213

BE—HE2(N)C E518202

E-H2(N)BH E518212

BE=HE(N)CHt EF18201

S=HX(T)OYE E518113

811

BE-AR(L) HEERRZ

E-HX(T)OYE E518113

8l12

|
B_AR(N) BESHNHRE




Bim

YEERP106RFET— ETERHE (FEMHE) HITEERR RIS

08/13~08/19

iR 1 2 3 4 5 6 7 8 9 .
EIE;@ 0800-0850 | 0900-0950 | 1000-1050 | 1100-1150| 1310-1400| 1410-1500 | 1510-1600 | 1610-1700 | 1710-1800 :
8/13 | Efi— E—RP(L) BEERH=
8l14| 25— =—ERIE(—) NFEEMIRE 2BR=

- E—RP(F) BEEERH=
| E—EX(L)oM EEig114
8/15 | EH= SE=1218( L)t EHa EYE(N)itE4
MNEEPIPERR MNEEPIPERR
i =E—®X(L)oM EFiE114 =E—®X(T)0M EFiE114
816 | B | E—RE(L) lﬁgesﬂlaxz
=E—®X(T)0M EFHiE114
817 BER E—RR(T) EEENE=
8l18| 27
8/19| 288
08/20~08/26

gz 1 2 3 4 5 6 7 8 9 s
Elﬁ;ﬁ 0800-0850 | 0900-0950 | 1000-1050 | 1100-1150| 1310-1400| 1410-1500| 1510-1600| 1610-1700| 1710-1800 :
8/20 | 28—
821 | =
822 | BHi=
8/23| 2Eim B— 5= HEEeEs
824 | EHA
8125 | 27
8/26 | 288




